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Part I (F -912)

Q. No. 1 (a~-f) carries 1 mark each
Q. No. 2 - 7 carries 2 marks each
Q. No. 8 -12 carries 4 marks eacl
Q. No. 13 & 14 carries 6 marks each

Part I (¥ -=2)

Q. No. 15 (a - f) carries 1 mark each
Q. No. 16 - 21 carries 2 marks each
Q. No. 22 -26 carries 4 marks each
Q. No. 27 & 28 carries 6 marks each

Total (Part I & II):

Ix6= 6

2x6 =12
4x5 = 20
6x2 =12

Total = 50

1x6= 6
2%x6 = 12
4x5 = 20
6x2 =12
~Total = 50

50 + 50 =100
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PART A - 3 o

1. @ DEfine market economy. \Q,L\l 1
i T SR e —o)l= )
| ) What does a point below the production possibility frontier
indicate ? ' A il
Bl ASRAE AR Bote SRS (o «bis & e
(¢ What is meant by inferior goods ? 1
e wy et & Jmm e
(d) What is an indifference curve ? 1
e @ e

(¢) If there is no change in qu.anti.ty demanded despite a change in the
price of a commodity, what will be the price elasticity (ep) of
demand ? ' 1

Ry v w1 ARRER e IR SIRRR AR @i oRRES T2,
(STRE BifRn e FEfogemet (¢,) T 232 |

(/ What is a production function ? 1
Sesina T e |
2. Distinguish between positive economics and normative economics.
2
7t W ST Reme Al fol |
3.  Mention any two important factors determining price elasticity of demand.
2

Sifew v el FaiRd 1 R 701 Tl S TrEd |

4. Suppose, when the price of a good is 24, the quantity demanded is 25
units. As price increases to ¥ 5, the quantity demanded falls to 20 units.

Calculate the price elasticity of demand. ' 5
QA T, <51 AT W 4 T T WR bR AR 25 97 =) afeat
AR W 5 B30 A0, BRI AR 20 G FH | G CFIS HIfAR v
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Can there be some fixed cost in the long run? Justify your answer.

1+1=2 |
%ﬂ%ﬁmfi@mwﬁmm@mm@wquwn |

OR/ &2
What is marginal product of an input ? 2
B! BT 2lifies B 52

_6/ Write down the concept of normal profit.  ° 2
FOIRE FieT =eicht fra |

7. What is monopolistic competition ? 2

Gt efsrienE wom fe

8.  What does the Average Fixed Cost (AFC) curve look like ? Why does it
look so ? - 1+3=4

o %3 W (AFC) @R g (AN ? TR WS oAl e
OR/G%dr

What is meant by Returns to Scale ? Give the meanings of various stages
of Returns to Scale. 1+3=4

il 2fons e & gere ®ien -riwe wam ez e i)

9. What is an isoquant ? Why are the isoquants downward sloping ?

2+2=4
A BedAl @At 52 3 A @R R oo, st ¢ | fl
10. What does a firm wish to achieve ? What tirree conditions must hold for a
profit maximising firm in the short-run ? 1+3=4

7 eifevin @I [ Sl Fifa SR Rt » 23 siere sire sicdimar ) A0 l
ﬁwﬁsﬁoﬁﬁrm‘@w’aaﬁa? IS Sy

OR /gt

The production function of a firm is given as Q = 5L1/2K 1/2. Calculate the

level of output (Q) when it employs 25 units of labour (L) and 9 units of

capital (K). _ 4 |
QWWWEQWWQ=5LV2KVZ WWIZSWW(L) 2r,
Wi 9 G o (K) Pt SR et Seem AR (Q) R <=t

R
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11.
¥

12.

13.

14.

Explain two characteristics of perfectly competitive market.

qcfaﬁmrfﬁw%wﬁf CITE T A4

Explain the effects of a rightward shift of demand curve on equilibrium
price and quantity when the number of firms in the market is fixed. Use
suitable diagram for your answer. 4

RS [T MU AU A SRS SRR T O AREeE eoRe BifEal
@R CIFIE @[ ZFNRR 2oR Hes wge il o |

What is demand curve ? Show with the help of suitable diagrams how the
market demand curve can be derived from individual demand curves.
1+5=6

oIzl @ e fesrs vifem @m o/l @ To bR @ AR AR Bae
AR MY | -
OR / 924t

Explain consumer’s optimum with the help " of indifference curve
approach. 6

R @ 3ot TS SrER S Ry 549 |

The short run Total Cost (TC) schedule of a firm is given below, Calculate
the TFC, TVC, AFC, AVC, AC and MC schedules of the firm.

6

93 2fSPT 2R 35 a5 (TC) wete frdll (202 | et TFC, TVC,
AFC, AVC, AC ®II% MC Srppb iz e 34t |
TC

Q

0 10

1 30

2 45

3 55

4 70 - | -
5 90

41



15.

16.
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OR/ 994!

Give the meaning of Total Fixed Cost (TFC) and Total Variable Cost
(TVC). Show with the help of a diagram that Total Cost (TC) is the sum
of TFC and TVC,

35 53 9 (TFC) Wi 33 ~Afaderdtial A (TVC) 7 94 vt | o v ¢rg et
@ TFC ©I% TVC A @IStz 2'a 36 9 (TC) |

(b)

2+4=6

PART B - ¢ 9

What is macroeconomics ?

Fafear wdfken e

What is autonomous consumption expenditure ?
Fog (el A A 52

Define excess demand in the context of income and employment

(c)
determination. 1
o S st FaEd s wfefie siftne Ake! |
(d) What are public goods ? 1
e &1 e
() What is balanced budget ? 1
I D 2
()  Write down the meaning of flexible exchange rate. 1
SifFqETTE R 2 9
What is GDP Deflator ? 5
5 T Berl A (52
| OR / @124t
Define budget deficit and trade deficit. 2
s i o e [ S frrat
[5] Contd.
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18.

19.

23.

24,

What is Personal Disposable Income (PDI) ? 2
S TG S e

Distinguish between demand deposits and time deposits. 2
GIfA SIS OiF: T ST M sfefy (e Sat |

What is the difference between Ex-ante investment and Ex-post
investment ? ' 2

AT W1 2w (42rs) R wem A1l e

Mention any two items of non-plan expenditure of a government budge;

bIIS ACEHT AR 79 Arprcr 75 REw G |

What is Balance of Payments (BoP) ? Mention fwo main accounts of BoP.
1+1=2

(-9 30! (BoP) 62 BoP 3 701 @i f2pie Sra < |

Suppose the GDP at market price of a country in a particular year is
%1100 crore. Net Factor Income from abroad is % 100 crore. The value of
Net Indirect Tax is 2150 crore and National Income is 2 850 crore.
Calculate the aggregate value of depreciation. 4

@ 7o GO [T Tme 94 (R TR WEe GDPypd AR 21100 @I |
Rom= #fa1 cRat Ceiinie @S W (NFIA) 2100 R, % @ o<1 AARse
2150 (I S=E TISTH S »Hfand 2850 (b 2, Fa-woq 7YY 37 fowy
'Y Sl 94 |

Define Intermediate goods, Final gdods, Consumption goods and Ca
goods.

TG AN, SR AN, oty N e [ ANSR ke fa

pital
4

Measure the level of ex-ante aggregate demand ywhen autonomous
investment and consumption expenditure (A) is T 50 crore; MPS j
level of income (Y) is 24,000 crore. State whether the econg

equilibrium or not (cite reasons).

Tog R =i cott 353 (A) 250 @I, Afes AL oo 02 % W1y g
(¥) 24,000 ol T eroire Al oA AR R 21 Sy e
SRES WS CIERTS SR ? Fie e |

s 0-2 ang
my is in
3+1=
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OR/ w33t
The autonomous consumption in an economy is 500 crore and total

personal disposable income is 3 5,000 crore. If the marginal propensity to
consume (mpc) is 0-8, find out the level of aggregate consumption.
4

9Bl WRREIS Fog (SriF === 500 IS Tt = 33 Gfsors racatsy o
5000 G Bl | &S Ctol efert 0-8 2, SRRBICS AT cofsiT AR
a1 1 | , | '

What is revenue deficit in a government budget ? Explain its implications

25;
\/of revenue deficit. 1+3=4

memﬁﬁﬁm@mﬁaw@@mﬂﬁ@%«wwl

26. Differentiate between devaluation and depreciation of currency.

T AT S N T ZPR T sfieky ot

27. Explain the circular flow of income in a simplified economy with two

sectors — households and firms. 6
FZZ! Wi TR AV — @3 B-Aege G5 T wY R[S WS bAlT 2T
G <40 ‘ ’

OR / 92t

Write down some of the limitations of usiné GDP as an index of welfare
of a country. 6

G (PR TR 5 1251t GDP < I92F 9 g Fioraet fxi |

78. What are the main functions of money ? How does money overcome the

shortcomings of a barter systern ? D+ d=6
JaiR eqm PR & 7 TR @ [ dr sefame oot 7@
- OR/ w2t
Briefly explain any four functions of the RBIL. " 6
ol RS @< (RBI)T AR 515 16 e gt <11
X
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